EXAM DATE : 17-February-2018
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 1 - What is the unit digit of the sum of first 111 whole numbers?

S 111 qoT GEAT3 & 9T 7 SHTS 3 AT 52
Options:

1)4

2)6

3)5

4)0

Correct Answer: 5

Candidate Answer: 6

QID : 2 - How many 100 digit positive number are there?

100 3t Y Rl Usiicas TEATT §?
Options:

1) 9 x 109

2) 9 x 10100

3) 10100

4) 11 x 10%

Correct Answer: 9 x 10%°
Candidate Answer: 9 x 10%°

QID:3-

WHERiE S Galigar e R B8 0,

0.8x2.1

5.6x0.36+0.42x3.2
0.8%2 1

T AT &T g2

Options:

1)2

2)1

3)3

4) 3/2

Correct Answer: 2
Candidate Answer: 2

EXAM START TIME : 10:30:00
EXAM DURATION : 02:00 Hrs
TOTAL NO OF QUESTIONS : 100



QID: 4-
Whatis the value of
(1.2)° +(0.8)° + (0.7’ —2.016 5
(1.35)[ (1.2 +(0.8)° +(0.7)°—0.96-0.84 - 0.56 |

(1.2)* +(0.8)* + (0.7)° —2.016
(1.35)[ (1.2)° +(0.8)* +(0.7)* —~0.96 —0.84 - 0.56 |

F AT T 8§72

Options:

1) 1/4

2)1/2

3)1

4)2

Correct Answer: 2
Candidate Answer: 2

QID : 5 - What is the unit digit of (217)*3 x (819)5 x (414)02% x (342)8127

(217)43 x (819)5% x (414)%24 x (342)812 T FhIS 37 AT &2
Options:

1)2

2)4

3)6

4)8

Correct Answer: 8

Candidate Answer: 2

QID:6-
What is the value of S= 4+ 1
Tx3x5 1x4d
1 1 1 1
5 4 + +... upto
Ixbxd Axd bBx¥x8 Tx1D

20 terms, then what is the value of §7?

1 1 i 1
= + + + +
1x3x5H 1x4 3Ixbhx7 4x7
1 1 : ;
... 20 9¢r do S
BTl " 700 e, @

T AT T 87

Options:

1) 6179/15275

2) 6070/14973

3) 7191/15174

4) 5183/16423

Correct Answer: 6070/14973

Candidate Answer: [ NOT ANSWERED ]



QID:7-
Which of the following is TRUE?
1 1 1
l. e uben s oo
27 429 5
1 1 1
% iz B
1 1 1
Bz s
1

1 1
Bz
Aaff@a & ¥ =9 ar g &2

1 1 1
I By
BN
Il ! = L = i
© 49 127 B
e ot s
CJ5 T 312 429
V. i > ] = ]
J5 429 312
Options:
1) Only I
ael I
2) Only II
Faor 11
3) Only III
Fae 111
4) Only IV
Fad IV
Correct Answer: Only III
Fger 111

Candidate Answer: [ NOT ANSWERED ]

QID : 8 - N is the largest two digit number, which when divided by 3, 4 and 6 leaves the remainder 1, 2 and 4 respectively. What is the remainder when N is divided
by 5?

& 37hT T U e Iy &A1 N &, T8 519 3, 4 a1 6 O anfaa [Fam Sirar § aY Qe sheer: 1, 2 9ar 4 3mar gl N &1 5 & [Janfaid aer ) Avher &7 87
Options:

1) 4

2)2

3)0

4)1

Correct Answer: 4

Candidate Answer: 2



QID:9 -

Which of the following is TRUE?
l. Q/ﬂ>ﬁ>%
Il. ﬁ>3/ﬁ>%
. 7 >445>311
V. M>ﬁ>ifﬁ

Options:
1)Only I
Hae I

2) Only II
hael 11

3) Only III
ae 111
4) Only IV
Fad IV

Correct Answer: Only III

Fadl 111
Candidate Answer: [ NOT ANSWERED ]

QID : 10 - A and B are positive integers. If A + B + AB = 65, then what is the difference between A and B (A, B < 15)?

A T B eilcHe quita &1 A A + B + AB = 65 §, df A T B & 7T I #1 § (A, B < 15)?
Options:

1)3

2)4

3)5

4)6

Correct Answer: 5

Candidate Answer: [ NOT ANSWERED ]

QID : 11 - What is the value of 143 + 163 + 183 + ... + 303?

143 + 163 + 183 + ... + 303 FT AT FATE?

Options:
1) 134576
2) 120212
3) 115624
4) 111672

Correct Answer: 111672
Candidate Answer: 115624



QID:12-

What is the value of

4600+\/540 1280+ /250 + 436 ?

4600 +\/540 1280+ /250 + /36

T AT 4T g2

Options:

1) 69

2) 68

3)70

4)72

Correct Answer: 68
Candidate Answer: 68

QID: 13- If x + y + z = 0, then what is the value of (3y2 + X + z2)/(2y% — xz2)?

FRXx+y+z=08, a (3y2 + X2 + 22)/(2y? — xz) T AT AT ¥?
Options:

1)2

2)1

3)3/2

4)5/3

Correct Answer: 2

Candidate Answer: 2

QID: 14 -If P = 7 + 4V/3 and PQ = 1, then what is the value of 1/P? + 1/Q2?

IR P =7+4v/3awPQ = 1§, ar 1/P2 + 1/Q2 T &=l T &7
Options:

1) 196

2) 194

3) 206

4) 182

Correct Answer: 194

Candidate Answer: 194

QID : 15 - If a3 + 3aZ + 9a = 1, then what is the value of a3 + (3/a)?

afe a® + 332 + 9a = 1 &, v a3 + (3/a) & AT FT &7
Options:

1) 31

2) 26

3)28

4) 24

Correct Answer: 28

Candidate Answer: [ NOT ANSWERED ]

QID: 16 - X, y and z are real numbers. If X3 + y3 + 23 = 13,x + y + z = 1 and xyz = 1, then what is the value of xy + yz + zx?

X, y 9T z aeafds GEart §1 A x3 + 3+ 23 = 13, x +y+z= 1 dUT xyz = 1 &, @ Xy + yz + zx & HAT 41 §7?
Options:

1)-1

2)1

3)3

4)-3

Correct Answer: — 3

Candidate Answer: - 3



QID: 17 - If (a + b)/c = 6/5 and (b + c)/a = 9/2, then what is the value of (a + c)/b?

fg (a + b)/c = 6/5 AT (b + c)/a = 9/2 &, A (a + c)/b FT AT FAT &?

Options:

1) 9/5

2) 11/7

3)7/11

4)7/4

Correct Answer: 7/4
Candidate Answer: 7/4

QID:18-Ifx3+y3 +3=3(1 +xyz),P=y+2z-%X, Q=z+Xx—yandR =X + y — z, then what is the value of P3 + Q3 + R3- 3PQR?

AR +y3+ B =31 +xyz),P=y+2z-%X Q=z+x—-yauR=x+y-z& arP3 + Q3 + R3- 3PQR & A T &?
Options:

1)9

2)8

3)12

4)6

Correct Answer: 12

Candidate Answer: 9

QID : 19 - If Xx{XoX3 = 4(4 + X1 + Xp + X3), then what is the value of [1/(2 + x1)] + [1/(2 + x2)] + [1/(2 + x3)]?

T XXXz = 44 + Xq + X + X3)BY, A[1/(2 + x1)] + [1/(2 + x2)] + [1/(2 + x3)] T AT T §?
Options:

1)1

2)1/2

3)2

4)1/3

Correct Answer: 1/2

Candidate Answer: 1/2

QID : 20 - If a and B are the roots of equation x2 —x + 1 = 0, then which equation will have roots a3 and p3?

IfE a aUT B FHEOT X% - x + 1 = 0 & #eT §, A Bra Faliawor & 7t o qar p3 ghae
Options:

VX +2x+1=0

)X -2x-1=0

L +3x-1=0

4) 2 -3x+1=0

Correct Answer: X2 + 2x + 1 =0

Candidate Answer: X2 +2x + 1 =0

QID: 21 -1If 3x + 5y + 7z = 49 and 9x + 8y + 21z = 126, then what is the value of y?

T 3x + 5y + 7z = 49 TAT 9x + 8y + 21z = 126 §, A y T AA T §?
Options:

1)4

2)2

3)3

4)5

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 22 - Cost of 4 pens, 6 note books and 9 files is Rs 305. Cost of 3 pens, 4 notebooks and 2 files is Rs 145. What is the cost (in Rs) of 5 pens, 8 notebooks and
16 files?

4 FAH, 6 AT TUT 9 BISel T Hod 305 T B1 3 Fold, 4 AT qUT 2 FISA H Hed 145 T §1 5 FHold, 8 AT IT 16 WISl HI Hod (T &) FT §?
Options:

1) 415

2) 465

3) 440

4) Cannot be determined

AT AT foRaT ST Fhar

Correct Answer: 465

Candidate Answer: Cannot be determined

AT AT foRaT ST Fhar



13/04/2018

QID : 23 - ABC is a right angled triangle. 2BAC = 90° and 2ACB = 60°. What is the ratio of the circum radius of the triangle to the side AB?

ABC Teh HHRIUT TH8TST &1 £BAC = 90° T LACB = 60° §| TH8ToT shT TRTISAT T $IT AB & T 3FeuTcl &2
Options:

1)1:2

2)1:V3

3)2:vV3

4)2:3

Correct Answer: 1 : V3

Candidate Answer: 1 : V3

QID: 24 -

In the given figure, ABCD is a square
whose side is 4 cm. P is a point on the
side AD. What is the minimum value (in

cm) of BP+ CP?

& wE spfa #, ABCD wTh T
fSraehr sfom 4 @Al g1 ST AD WP
v fdwg &1 BP + CP & #goAdd HAl
(F.#. #/) F4r g2

D C
P
A B
Options:
1) 45
2) 4/4
3) 6v3
4) 4/6

Correct Answer: 4v/5
Candidate Answer: 4V5

QID : 25 - Triangle ABC is similar to triangle PQR and AB : PQ = 2 : 3. AD is the median to the side BC in triangle ABC and PS is the median to the side QR in
triangle PQR. What is the value of (BD/QS)%?

T3S ABC, T8[sT PQR o T#ET & AT AB : PQ = 2 : 3 §1 AD, T¥3[eT ABC # #foTT BC TR Teh HITEHHT § 1T PS, T¥efeT PQR & §[oiT QR WX Ueh HITEIH & (BD/QS)2 &1
HTT T 87

Options:

1) 3/5

2) 4/9

3)2/3

4) 4/7

Correct Answer: 4/9

Candidate Answer: 4/9



QID: 26 -

In the given figure, B and C are the
centres of the two circles. ADE is the
common tangent to the two circles. If the
ratio of the radius of both the circles is 3 :
5 and AC = 40, then what is the value of
DE?

& S HWHT A, B qUT C o Jedl &
%eg &1 ADE gt geal 1 T 397afacs
Toef Y@r g1 afe at gear fr st
W HJAT 3:5 F AT AC=40 ¢, &
DE &T AT &4 87

Options:
1) 3vV15
2) 515
3) 6V15
4) 4V15

Correct Answer: 415
Candidate Answer: 415

QID: 27 -
In the given figure, AB = 30 cm and CD =
24 cm. What is the value (in cm) of MN?

&r a2 mefd A, AB=30 §.H. dur CD
=24 A g1 MN & AT (F.HT. H) &7

g7

‘ M
N B
L,
A
Options:
1) 18
2)9
3) 12

4) 15



Correct Answer: 18
Candidate Answer: 18

QID : 28 - AB and AC are the two tangents to a circle whose radius is 6 cm. If 2BAC = 60°, then what is the value (in cm) of v(AB2 + AC2)?

AB T AC T e TR &Y Tl Y@? § foraeh frear 6 {3, &1 3f £BAC = 60° &, & V(AB? + AC?) &1 a1t ({70, &) Fm §?

Options:
1) 6v6
2) 46
3) 9V3
4) 8vV3

Correct Answer: 6v6

Candidate Answer: 6v6

QID: 29 -

In the given figure, ABC is a right angled
triangle. ZABC = 90° and ZACB = 60°. If
the radius of the smaller circle is 2 cm, then
what is the radius (in cm) of the larger
circle?

& M PR A, ABC TEm FARIT e
g1 ZABC = 90° g ~ACB=60° gl Ig
oI goad & Bowm 2 wA § O 93 g
&r e (. &) w2 g2

A
C B
Options:
1)4
2)6
3)45
4)7.5

Correct Answer: 6
Candidate Answer: 6



QID: 30 -

In the given figure, O is centre of the
circle. Circle has 3 tangents. If ZQPR =
45°, then what is the value (in degrees) of

ZQOR?

& IS IHfT A, O Jed N Fodk ¢l e
W 3 ' @i g I ZQPR =45° &,
ar ZQOR &r AT (T2l #) Far &2

Options:

1) 67.5

2)72

3)78.5

4) 65

Correct Answer: 67.5
Candidate Answer: 67.5

QID:31-
In the given figure, two identical circles of
radius 4 cm touch each other. A and B are
the centres of the two circles. If RQ is a
tangent to the circle, then what is the
length (in cm) of RQ?

& T Ipla A & AN g@ e
Poar 4 T & o qEY B T W W
¢l il gal & Few A 90T B §1 TG RQ
Jq W & FORE g, af RQ & T

@ &) T ¥

RS
ey
RN,

Options:
1) 3v3
2) 2v6
3) 42
4) 62



Correct Answer: 4v/2
Candidate Answer: [ NOT ANSWERED ]

QID : 32 - The radius of two circles is 3 cm and 4 cm. The distance between the centres of the circles is 10 cm. What is the ratio of the length of direct common
tangent to the length of the transverse common tangent?

2 geat it Fead 3 @5, Tur 4 F.7. §)1 St gedt F Feal & 7EF H Gl 10 A T 3HATASS T TG T TS A ITIEY ITEIL @1 H TS F 3T FAT
&?

Options:

1) V51 : V68

2)V33: V17

3) V66 : V51

4) V28 : V17

Correct Answer: V33 : V17
Candidate Answer: V33 : V17

QID : 33 - ABC is a triangle. AB = 5 cm, AC = V41 cm and BC = 8 cm. AD is perpendicular to BC. What is the area (in cmz) of triangle ABD?

ABC T T33[oT &1 AB = 5 9.7, AC = V41 @&, TuT BC = 8 €71, §| AD, BC T Ueh & & | TI8[oT ABD T & thel @2 ) Fr ?

Options:

1) 12

2)6

3)10

4) 20

Correct Answer: 6
Candidate Answer: 6

QID: 34-
In the given figure, PQR is a ftriangle and
guadrilateral ABCD is inscribed in it. QD = 2
cm, QC=5cm, CR=3¢cm,BR=4cm,PB=86
cm, PA =5 cm and AD = 3 cm. What is the
area (in cm?) of the quadrilateral ABCD?

& o 3l A, PQR ww PR § awr
agls ABCD 3w# 3ifera famam amm 81 QD=
2 9., QC=5"#H., CR=3 ¥#1, BR=4
B, PB=6 B, PA=5 3.7 aur AD=
3 A &1 wges ABCD &l &Fhel (WHI2

H) &1 87

Options:

1) (23v21)/4

2) (15v21)/4

3) (17v21)/5

4) (23v21)/5

Correct Answer: (17v21)/5

Candidate Answer: [ NOT ANSWERED ]



QID:35-

In the given figure, ABCD is a square of side 14
cm. E and F are mid points of sides AB and DC
respectively. EPFis a semicircle whose diameter
is EF. LMNO is a square. What is the area (in
cm?) of the shaded region?

& 5 amefa A, ABCD 14 W.HY. #T aTel T
T g1 E 9T F &AW AB TdT DC =T &
7w faeg €1 EPF, & andgea § famer cma
EF & LMNO U& &I §| OTFifehd &7 &l
8% (THT.2 #7) &1 82

A = B
/ "
P L N
\ D
D = c
Options:
1) 108.5
2)94.5
3)70
4) 120

Correct Answer: 94.5
Candidate Answer: 94.5

QID:36-
In the given figure, ABCDEF is a regular
hexagon whose side is 6 cm. APF, QAB,
DCR and DES are equilateral triangles.

What is the area (in cm?) of the shaded
region?

& s IAHIA H, ABCDEF U& ¥H
yeolsl @ fSwdr sem 6 @Al g1 APF,
QAB, DCR T DES w#aTg it &l
eofed T & &Fha (TAT? #H)

FME? p Q
A
F B
E C
D
S R
Options:
1) 24V3
2) 18v3
3) 72V3
4) 36V3

Correct Answer: 72V/3
Candidate Answer: 72V3



QID : 37 - Length and breadth of a rectangle are 8 cm and 6 cm respectively. The rectangle is cut on its four vertices such that the resulting figure is a regular
octagon. What is the side (in cm) of the octagon?

Ueh 3 &Y FaTg T <eTS e 8 WA, qur 6 A 1 3T 1 35 TR N 0 3 TR Frer S § Foh ey arell iy U T 3rscefst &1 3rsesr & ofe

(.5, 7)) Fr ?

Options:

1) 3(Vi1)-7

2) 5(v13) -8

3)4(v7)-11

4) 6(vV11)-9

Correct Answer: 3(V11) -7
Candidate Answer: [ NOT ANSWERED ]

QID: 38 -
In the given figure, radius of a circle is 1442
cm. PQRS is a square. EFGH, ABCD, WXYZ

and LMNO are four identical squares. What is
the total area (in cm?) of all the small squares?

& I$ WS H, UF god @ Hear 1442
a#r. g1 PQRS ws = &1 EFGH, ABCD,
WXYZ T LMNO TR §HT I3t §| &3 o
It F FoT TG (FF2 H) FAE?

W X
il I -
Z Y
Af—B EFF

w]
9]
I
@®

[ M
ss—| |_“FR
O N
Options:
1) 31.36
2) 125.44
3) 62.72
4) 156.8

Correct Answer: 31.36
Candidate Answer: [ NOT ANSWERED ]



QID: 39 -

In the given figure, AB, AE, EF, FG and GB
are semicircles. AB =356 cm and AE = EF =
FG = GB. What is the area (in cm?) of the

shaded region?

&r 5 AR H, AB, AE, EF, FG @ GB
Higed ¢ AB =56 T dur AE=EF =
FG = GB g1 BMifehd HWET &l SIhol
(T 7.2 #) &1 82

Options:
1) 414.46
2) 382.82
3) 406.48
4) 394.24

Correct Answer: 394.24
Candidate Answer: [ NOT ANSWERED ]

QID : 40 - A right prism has a square base with side of base 4 cm and the height of prism is 9 cm. The prism is cut in three parts of equal heights by two planes
parallel to its base. What is the ratio of the volume of the top, middle and the bottom part respectively?

T G T &7 MUR 4 .7, 97T arel U 9 § aur Biew it Far$ 9 A, 1 RISH 1 38 IR % AR & doll GaRT QAT Fa1s & et 71l 7 rer ar g
A FUY HEG TUT folerel H1EN & Il T IHe]dTel F7 §?

Options:

1)1:8:27

2)1:7:19

3)1:8:20

4)1:7:20

Correct Answer: [ No Correct Answer ]

Candidate Answer: 1:7: 19

QID : 41 - Radius of base of a hollow cone is 8 cm and its height is 15 cm. A sphere of largest radius is put inside the cone. What is the ratio of radius of base of
cone to the radius of sphere?

Teh WG A & MR A =7 8 A, TUT 3qAT Far$ 15 A, §| Tad 731 BT arelt Ueh T 38 A # STl ST1ell §1 2 & TR 1 s o1 ey & Bear &
T 3T &2

Options:

1)5:3

2)4:1

3)2:1

4)7:3

Correct Answer: 5 : 3

Candidate Answer: [ NOT ANSWERED ]

QID : 42 - The ratio of curved surface area of a right circular cylinder to the total area of its two bases is 2 : 1. If the total surface area of cylinder is 23100 cm?,
then what is the volume (in cm3) of cylinder?

TH JeaTa oI F dgh TSI S &1 AT 3HF el JTIRT & Fol 87Tl § 2 & 1 1 IR I8 &7 FooT TSORT a1t 23100 .32 B, A doreT &7 3mreser (.70.3 )
T &7



Options:
1) 247200
2) 269500
3) 312500
4) 341800

Correct Answer: 269500
Candidate Answer: 269500

QID: 43-
A solid cylinder has radius of hase 14 cm
and height 15 cm. 4 identical cylinders are
cut from each base as shown in the given
figure. Height of small cylinder is 5 cm.
What is the total surface area (in cm?) of the
remaining part?

TF I dad & HYR H BFeaw 14 aaA
aar Fas 15 w81 w5 amsfa &
zorar war & & sud uedw MR ¥ 4
FAA ddd HE &1 I dd7 & FAE 5
T T A HE T FA TOT SRS
(@2 ;) F 3?

Options:

1) 3740

2) 3432

3) 3124

4) 2816

Correct Answer: 3432

Candidate Answer: [ NOT ANSWERED ]

QID : 44 - 10 identical solid spherical balls of radius 3 cm are melted to form a single sphere. In this process 20% of solid is wasted. What is the radius (in cm) of
the bigger sphere?

3 9.7, 3T 7 10 T FAT el IaT F Fraere] U T SHATET AT &1 59 9RAT 7 20% 31 §61G &1 S1dm &1 93 aier S Fear (3. 7F) :rg?

Options:

1) 24

2) 12

3)8

4)6

Correct Answer: 6
Candidate Answer: 6

QID : 45 - The radius of base of a solid cylinder is 7 cm and its height is 21 cm. It is melted and converted into small bullets. Each bullet is of same size. Each bullet
consisted of two parts viz. a cylinder and a hemisphere on one of its base. The total height of bullet is 3.5 cm and radius of base is 2.1 cm. Approximately how many
complete bullets can be obtained?

TS 31 SoleT & TR T Fear 7 .57, Tu7 356H Fa1$ 21 T3 §1 39 Ruemet oidr Mot & scar Sidr g1 Tcds el THE &1 T el & af 99T § Siifh U
Solel & YT 3HH Teh 3TN U Teh T0el § | el T ool S 3.5 QLA § o7ar 3meR By e 2.1 QT 81 oferers el ot aforar uree v S dehelt 87
Options:

1) 83

2) 89

3)74

4)79

Correct Answer: 83

Candidate Answer: [ NOT ANSWERED ]



QID : 46 - A cuboid of size 50 cm x 40 cm x 30 cm is cut into 8 identical parts by 3 cuts. What is the total surface area (in cmz) of all the 8 parts?

TS gef foreerr AT 50 T.AT. x 40 H.A. x 30 A7 %,a#3mé:aym8mmﬁﬁmm%l%WSMW@WWW(@;ﬁ.Zﬁ)W%?

Options:
1) 11750
2) 14100
3) 18800
4) 23500

Correct Answer: 18800
Candidate Answer: 18800

QID: 47 -
A right triangular pyramid XYZB is cut from

cube as shown in figure. The side of cube is
16 cm. X, Y and Z are mid points of the

edges of the cube. What is the total surface
area (in cm?) of the pyramid?

s f6 amefa & gaftar mm & & ue ue
¥ vw gEeiE Reeer Rfds Xvze
HICT IFT §1 O B ST 16 THL & X, Y
da1 Z ud & il W #ew fEwg @l
fas & Fa 6 & e (FA12 )
FT 872

X —B

N

Options:

1) 48[(V3) + 1]

2) 24[4 + (V3)]

3) 28[6 + (V3)]

4) 32[3 + (V3)]

Correct Answer: 32[3 + (V3)]
Candidate Answer: 32[3 + (V3)]

QID : 48 - What is the value of [(sin x + sin y) (sin x — sin y)]/[(cosx + cosy) (cosy — cosx)]?

[(sin x + sin y) (sin x — sin y)]/[(cosx + cosy) (cosy — cosx)] T HTeT T &7?
Options:

1)0

2)1

3)-1

4)2

Correct Answer: 1

Candidate Answer: - 1

QID : 49 - What is the value of [(tan 56 + tan 30)/4 cos 40 (tan 56 — tan 36)]?

[(tan 58 + tan 36)/4 cos 46 (tan 56 — tan 30)] T AT FT &7
Options:

1) sin 26

2) cos 26

3) tan 46

4) cot 26

Correct Answer: cos 26

Candidate Answer: [ NOT ANSWERED ]



QID : 50 - What is the value of (4/3) cot? (p/6) + 3 cos? (150°) — 4 cosec? 45° + 8 sin (p/2)?

(4/3) cot? (p/6) + 3 cos? (150°) — 4 cosec? 45° + 8 sin (p/2) T HIT FAT &?

Options:

1) 25/4

2)1

3)-7/2

4) 13/2

Correct Answer: 25/4

Candidate Answer: [ NOT ANSWERED ]

QID : 51 - What is the value of sin (B — C) cos (A — D) + sin (A — B) cos (C— D) + sin (C—A) cos (B - D)?

sin (B — C) cos (A — D) + sin (A — B) cos (C — D) + sin (C — A) cos (B — D) & #HTeT 4T 87

Options:

1) 3/2

2)-3

3)1

4)0

Correct Answer: 0
Candidate Answer: 0

QID:52-
What is the value of

[ 4cos(90— A) sin® (90 + A) |-
| 4sin(90+ A) cos® (90— A) |

180 + 8A
S| —

| 4c0s(90— A) sin® (90 + A) |-
[4 sin(90 + A) cos® (90 — A)]

[1804—8;4]
cos| —— ——

2
T AT FT g2

Options:

1)1

2)-1

3)0

4)2

Correct Answer: — 1
Candidate Answer: 2

QID : 53 - What is the value of cos [(180 — 8)/2] cos [(180 — 96)/2] + sin [(180 — 36)/2] sin [(180 — 138)/2]?

cos [(180 — 0)/2] cos [(180 — 96)/2] + sin [(180 — 36)/2] sin [(180 — 136)/2] T HI FT &?
Options:

1) sin 26 sin 46

2) cos 26 cos 60

3) sin 20 sin 66

4) cos 26 cos 46

Correct Answer: cos 26 cos 60

Candidate Answer: cos 26 cos 46



QID : 54 - What is the value of [tan? (90 — 8) — sin? (90 — 6)] cosec? (90 — 8) cot? (90 — 6)?

[tan? (90 — B) — sin2 (90 — B)] cosec? (90 — B) cot? (90 — B) T AT FT &?
Options:

1)0

2)1

3)-1

4)2

Correct Answer: 1

Candidate Answer: 1

QID : 55 - Two points P and Q are at the distance of x and y (where y > x) respectively from the base of a building and on a straight line. If the angles of elevation
of the top of the building from points P and Q are complementary, then what is the height of the building?

P dT Q 2 f3wg Ush SHARC & TR & A2l X ATy (STl y > x §) T gl 1 & o7ar vah Aely T@nm o 8| AfE gy P AT Q F SARA Y WEY & Seeidhed hI0T e &, ot
SHARA &7 Fa1S F41 8?2

Options:

1) xy

2)V(y X

3) V(A Y

4 V(xp)

Correct Answer: V( x))

Candidate Answer: V( x))

QID : 56 - The tops of two poles of height 60 metres and 35 metres are connected by a rope. If the rope makes an angle with the horizontal whose tangent is 5/9
metres, then what is the distance (in metres) between the two poles?

& @ ST Farg 60 #Hiex aar 35 #Hiex €, S Aifeat @ Il & Ser e &1 afe e ifasT S Ay T s § et Tae W@ 5/9 #iex §, ar gt @t & & i
g0 (e ) FAT 2

Options:

1) 63

2)30

3)25

4) 45

Correct Answer: 45

Candidate Answer: 45

QID : 57 - A Navy captain going away from a lighthouse at the speed of 4[(v3) — 1] m/s. He observes that it takes him 1 minute to change the angle of elevation of
the top of the lighthouse from 60° to 45°. What is the height (in metres) of the lighthouse?

T AT et 4[(V3) — 1] #./A. 1 a1fd § I8¢ 5130 A gY ST V6T ¢ | a6 8701 T ¢ o ofise g13d & dIEY & 3eeidiet 10T 60° F 45° Feelet & folv 38 T
AT 9T §1 ST 8139 Y 3ars (Fex 7) Far 872

Options:

1) 240V3

2) 480[(V3) - 1]

3) 360V3

4) 280V2

Correct Answer: 240V3
Candidate Answer: 240V3



QID : 58 -

The table given below shows the number of applicants
who have applied for exam at various centres as
percentage of total number of applicants. The table also
shows the number online applicants and absent
applicants as a percentage of total applicants of each
centre. Total number of applicants is 1200000.

drr & o e # Rfes afem S=t & e &
AATR A AT AT B T HopA st
$r FE F wiewd F ¥ F quir g 9w e
T e ¥ ¥ teersa mafiEt gur et
it & sEwm w1 @ anafiEt fr dewm ¥
gfeed & &7 & i &1 weafiEt f $w wemw

1200000 &1
Exam Online Absent
Centre / Total applicants / | applicants /
qfe | @PPlicants /
& gt
g | ° ars=ret rardt
F 15% 30% 36%
G 25% 44% 25%
H 20% 52% 32%
J 24% 46% 18%
K 16% 38% 20%

If A equals to 15% of total applicants who are present at exam centre F and B equals to present applicants at exam centre K, then A is what percent of B?

I A TReT deg F oR 3uTere 3r-afial &1 gof TEar & 15% & SRTaT § T B OlIeT e K 0 3uTere 30l & svraw 8, ar A, B & foctar wfcrerd 872

Options:
1) 18.18
2) 11.25
3) 13.33
4) 14.28
Correct Answer: 11.25

Candidate Answer: [ NOT ANSWERED ]



QID : 59 -

The table given below shows the number of applicants
who have applied for exam at various centres as
percentage of total number of applicants. The table also
shows the number online applicants and absent
applicants as a percentage of total applicants of each
centre. Total number of applicants is 1200000.

drr & o e # Rfes afem S=t & e &
AATR A AT AT B T HopA st
$r FE F wiewd F ¥ F quir g 9w e
T e ¥ ¥ teersa mafiEt gur et
it & sEwm w1 @ anafiEt fr dewm ¥
gfeed & &7 & i &1 weafiEt f $w wemw

1200000 &1
Exam Online Absent
Centre / Total applicants / | applicants /
qfe | @PPlicants /
& gt
g | ° ars=ret rardt
F 15% 30% 36%
G 25% 44% 25%
H 20% 52% 32%
J 24% 46% 18%
K 16% 38% 20%

Total number of offline applicants from exam centre H, K and F are how much less than the total number of present applicants from exam centre G and J?

A& g H,K 7T F & el 3iTthorrse ra-afial &1 goor e, aliet g G ot 1 § 3ufeyd sreafdial i o dear @ s w7 82
Options:

1) 111420

2) 100920

3) 127370

4) 109990

Correct Answer: 100920

Candidate Answer: [ NOT ANSWERED ]



QID : 60 -

The table given below shows the number of applicants
who have applied for exam at various centres as
percentage of total number of applicants. The table also
shows the number online applicants and absent
applicants as a percentage of total applicants of each
centre. Total number of applicants is 1200000.

drr & o arfee F Rafdes alem H=F # afem =
AATR A AT AT B T HopA st
#r g F wiowe F w9 & gt g 3w e
eI e Feg ¥ feerse anafiEt qur semetem
it & sEwm w1 @ anafiEt fr dewm ¥
gfeed & &7 & i &1 weafiEt f $w wemw
1200000 ¥

Exam Online Absent
Centre / Total applicants / | applicants /
qfenr | @PPlicants /
& gt
g | ° ars=ret rardt
F 15% 30% 36%
G 25% 44% 25%
H 20% 52% 32%
J 24% 46% 18%
K 16% 38% 20%

What are the total number of offline applicants from the exam centre F, H, J and G?

aQeTT Feg F, H, 1 a7 G & 3ifthorrsa sraafidi & o e #m §?
Options:

1) 393720

2) 963000

3) 564720

4) 428540

Correct Answer: 564720

Candidate Answer: [ NOT ANSWERED ]



QID: 61 -

The table given below shows the number of applicants
who have applied for exam at various centres as
percentage of total number of applicants. The table also
shows the number online applicants and absent
applicants as a percentage of total applicants of each
centre. Total number of applicants is 1200000.

drr & o arfee F Rafdes alem H=F # afem =
AATR A AT AT B T HopA st
$r gTw F wfoed F w9 F g @ §) 7 At
S qieT e ¥ afdersa wmatiat qur et
it & sEwm w1 @ anafiEt fr dewm ¥
gfeed & &7 & i &1 weafiEt f $w wemw

1200000 &1
Exam Online Absent
Centre / Total applicants / | applicants /
qfe | @PPlicants /
& gt
g | ° ars=ret rardt
F 15% 30% 36%
G 25% 44% 25%
H 20% 52% 32%
J 24% 46% 18%
K 16% 38% 20%

What is the ratio of total number of present applicants from exam centre K to total number of offline applicants from exam centre J?

T Feg K & Foof 3T 3r3-afiat hr e a1 odet g 1 @ ol Hithelrget 7Tt iy Fear & 41 Jrqurd §?

Options:

1)40: 41

2)80:81

3)10:9

4)7:11

Correct Answer: 80 : 81

Candidate Answer: [ NOT ANSWERED ]



QID:62-

The table given below shows the number of applicants
who have applied for exam at various centres as
percentage of total number of applicants. The table also
shows the number online applicants and absent
applicants as a percentage of total applicants of each
centre. Total number of applicants is 1200000.

drr & o e # Rfes afem S=t & e &
AATES WIS AT HeRfEEt f1 wEm w Fe et
1 T F wfged F §9 & g w4 £ 7 Ao
T e ¥ ¥ teersa mafiEt gur et
it & sEwm w1 @ anafiEt fr dewm ¥
gfeed & &7 & i &1 weafiEt f $w wemw

1200000 g1
Exam Online Absent
Centre / Total applicants / | applicants /
qfenr | @PPlicants /
& gt
g | ° ars=ret rardt
F 15% 30% 36%
G 25% 44% 25%
H 20% 52% 32%
J 24% 46% 18%
K 16% 38% 20%

What are the total number of present applicants from exam centre H and G together?

ST e H TUT G &1 THeTRT 3uferd 3r-afdat i For dear 82

Options:
1) 238200
2) 151800
3) 388200
4) 442650

Correct Answer: 388200
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Solution A contains 10% acid and solution B contains 30% acid. In what ratio should solution A be mixed with Solution B to obtain a mixture with 25%
acid?

THHOT A F 10% TRAS § 7T TAHOT B & 30% TRAS §1 f&S10T A &1 T80T B & A1y fond 3e]arel & T S f& f&sior # 25% il e g1 sie?
Options:

1)1:2

2)3:1

3)1:3

4)2:1

Correct Answer: 1: 3

Candidate Answer: 1: 3

QID : 64 - In what ratio should coffee powder costing Rs 2500/kg be mixed with coffee powder costing Rs 1500/kg so that the cost of the mixture is Rs 2250/kg?

BT AT3ST Forgeht e 2500 /1. 31T, &, 1 3 31eqarer 7 1500 F/fh.a. oA arel It I35T & AT AT AT 6 FAA07 T e 2250 F/feh.am. gY Se?
Options:

1)1:4

2)4:1

3)3:1

4)1:3

Correct Answer: 3 : 1

Candidate Answer: 3 : 1

QID : 65 - A and B started a partnership business investing in the ratio of 3 : 8. C joined them after 4 months with an amount equal to 3/4th of B. What was their
profit (in Rs) at the end of the year if C got Rs 24,000 as his share?

ATATB A 3 : 8 & 37e]uTel # REWERY ek SATIR YRS FRAT| 4 FEAT a1e; C =1 B o @R forarer shr ariy iy T 3/4 R 7 fvaer aveh oot # smmefierdy et 1| a¥ &
3T H 3AFT AT Fd=T (¥ &) a1 IfeE C F7 24,000 & Ao 872



Options:
1) 120000
2) 150000
3) 90000
4) 180000

Correct Answer: 90000
Candidate Answer: 90000

QID : 66 - A and B invest in a business in the ratio 4 : 5. After 10 months B leaves the business after withdrawing his investment. In the first year the business
made a profit of Rs 49,000. What is B's share (in Rs) of this profit?

ATUTB & Ry samaR & 4 1 5 % 3171l F fder frar| 10 #GT a1e B & 31911 AT Ao oo sITaR @ ARy arad o off| dger a¥ 7 IR fr49,ooo$rm§3m
g e H B o1 fgwar (3 &) fohar ar?

Options:

1) 25000

2) 20000

3) 18000

4) 22000

Correct Answer: 25000
Candidate Answer: 25000

QID : 67 - Working together A and B can do a job in 40 days, B and C in 36 days and all three together in 24 days. In how many days can B alone do the job?

A TUT B U AT fREY 1 T 40 et 3 T ofct &, B a1 C 36 oAt & o ol § ar @iy it fAere oy 1T 1 24 et & o 1 €1 B 31helT 39 1A Y [l et
#H FT oam?

Options:

1) 60

2) 90

3)72

4) 120

Correct Answer: 90

Candidate Answer: 90

QID: 68 - A, B and C can do a job working alone in 50, 75 and 20 days respectively. They all work together for 4 days, then C quits. How many days will A and B
take to finish the rest of the job?

A, B T C 375hel &1 Rl §U Tehalt I &Y arer: 50, 75 AR 20 feeAt & qx7 e o1 1 3 Tl IR feioT wap Ay raf oA & 3 FhT C e o T §1 97 §T Sl 1 A
HﬂTBﬁ»?lﬁﬁﬂ’fﬁquWﬁfﬂ?

Options:

1) 20

2)30

3) 18

4) 24

Correct Answer: 20

Candidate Answer: 20

QID : 69 - A can do 50% of the job in 16 days, B can do 1/4% of the job in 24 days. In how many days can they do 3/4t of the job working together?

A TR T3 & 50% 19T &Y 16 Tereil 7 T @I &, B 3 1A & 1/4 HIIT T 24 Al & T oIl &1 Th 1A HH A §U I HIA & 3/4 #7191 Y fohclel el & o T ahare
Options:

1) 24

2)9

3)21

4) 18

Correct Answer: 18

Candidate Answer: 18

QID : 70 - A and B can together complete a task in 18 hours. After 6 hours A leaves. B takes 36 hours to finish rest of the task. How many hours would A have
taken to do the task if he worked alone?

A T B R &1 Y 18 et & O AR A &1 6 € ST A 1A BIS &l §| T §U 1 B G e & T B 36 € A1t &1 I A 31ehel 1T el & Y 38 6 I Y
FT H fhcet 1T PR

Options:

1) 54

2) 45

3)21

4) 27

Correct Answer: 27

Candidate Answer: 27



QID : 71 - 1 packet of biscuits costs Rs 16 but a pack of 4 of the same packet of biscuits costs Rs 56. What is the effective discount (in %) on the pack?

Toreepe & 1 ke 1 AT 16 T & Weg 3H TP & 4 Yhe 3 Ueh Ueh T H1oAd 56 T &1 Yeh I Te1Tel e (% H) Tehctetr gram?
Options:

1)8

2) 10

3)7.5

4)12.5

Correct Answer: 12.5

Candidate Answer: 12.5

QID : 72 - The cost price of an article is Rs x. It is marked up by 200%. It is sold at Rs 540 after giving 25% discount. What is the value of x (in Rs)?

TRl S &1 AT Hed x T B1 50 200% & q51ehT 3ifoheT FoRam aram| 25% e &t & aTe 58 540 TOAT 3 ST 17| X T AT (3927 H) 7 872

Options:

1) 360

2) 250

3) 300

4) 240

Correct Answer: 240
Candidate Answer: 240

QID : 73 - A Rs 750 tin of cheese is offered at 8% discount and a Rs 1,250 tin of butter at 20% discount. If we buy 5 tins of cheese and 3 tins of butter, what is the
effective discount we get (in %)?

750 T & et & ot W 8% H T & AT & 3R 1,250 T F qeX & o W 20% Hr T & Sl §1 3 g7 I & 5 feet 3R aex & 3 oot @died §, & ot wormahr
B (% H) el fAerai?

Options:

1) 12

2) 15

3) 14

4) 16

Correct Answer: 14

Candidate Answer: 14

QID : 74 - The selling price of an article is Rs 816 if the discount on it is 15%. What would be the selling price of the article (in Rs) if the discount on it is 25%?

ol oo 1 Tashd #[od 816 & § I 30 WX 15% e & STl §| TG 25% e &1 ST af g 1 {ashar 7{[e4 (3 #) F41 grom?
Options:

1) 750

2) 720

3) 800

4) 700

Correct Answer: 720

Candidate Answer: 720

QID : 75 - The entry ticket at a fun park was increased in the ratio 7 : 9, due to which footfalls fell in the ratio 13 : 11. What is the new daily collection (in Rs), if the
daily collection before the price hike was Rs 2,27,500?

ferelt et a1eh o USY fefohe & FeT A 7 : 9 & e[ A JfE g SIS HROT ITghT BN FCAT A 13 1 11 & Hogdrcd el 3| G &y aTelr 7T sheterereT (F #)
ToRdaTT g1eT IfE A Fe1 & dgel ufafaet 2,27,500 FIAT T FHelerrle aiar AT?

Options:

1) 237500

2) 247500

3) 232500

4) 242500

Correct Answer: 247500
Candidate Answer: 247500

QID:76-1If 6A = 4B = 9C; WhatisA:B: C?

IfE6A=4B=9C; dATA:B: CFaT§?

Options:
1)6:4:9
2)9:4:6
3)4:9:6
4)6:9:4
Correct Answer: 6:9: 4



Candidate Answer: 6:9:4

QID : 77 - If 50 less had applied and 25 less selected, the ratio of selected to unselected would have been 9 : 4. So how many candidates had applied if the ratio of
selected to unselected was 2 : 1.

g 50 A AN A IHTdeT R gl 3 25 e Yo 1T it A Yol AT TUT o YA I SA11T T AT 9 & 4 BIeAT| I YA T TUT o Fo¥ T A9 T 3f0leT 22 1 AT AY
fohcieT ST o 3TTdcaT fohaT UT?

Options:

1) 125

2) 250

3) 375

4) 500

Correct Answer: 375

Candidate Answer: 375

QID : 78 - What is the fourth proportional to 189, 273 and 153?

189, 273 31 153 T =T 31uTicieh T §2
Options:

1) 117

2) 299

3)221

4) 187

Correct Answer: 221

Candidate Answer: 221

QID : 79 - Rs 11,550 has to be divided between X, Y & Z such that X gets 4/5 of what Y gets and Y gets 2/3 of what Z gets. How much more does Z get over X (in
Rs)?

11,550 FHI X, Y 3R Z 7 30 O a1 o6 X &Y & 4/5 3R Y 1 Z 1 2/3 #7e1 el | Z F X ¥ Fovcderr 3170 amer (% #1) FHeem?

Options:

1) 7200

2) 1800

3) =13*%9

4) 2450

Correct Answer: 2450

Candidate Answer: 2450

QID : 80 - Before a battle the ratio of tanks to planes in an army was 5 : 3. During the war 1000 tanks were destroyed and 800 planes were destroyed. The ratio of
tanks to planes became 2 : 1. What is the number of tanks after the war.

g O ugel Tohdl A1 7 T 3IR Tkt 1 3T 5 ¢ 3 AT| g & ERTeT 1000 T 3R 800 ToleT w7se &Y 10| Eoh AT Tolet T IHefdel 3 2 1 1 &1 IAT| I o e &b ohT d&am
FarE?

Options:

1) 2000

2) 1000

3) 3000

4) 4000

Correct Answer: 2000

Candidate Answer: 2000

QID : 81 - The average marks of 50 students in an examination was 65. It was later found that the marks of one student had been wrongly entered as 83 instead of
38. The correct average is?

50 o131 & fRer gdieT # i 37 65 | a1 F VAT IaT TelT FY fHEY ST & 37 38 F Io 83 S5 U v | F@Er 3w F4r geme?

Options:

1) 63.9

2) 64.5

3) 64.7

4) 64.1

Correct Answer: 64.1

Candidate Answer: 64.1

QID : 82 - In a class of 50 students there are 22 girls who scored an average of 35 marks in the test. What is the average marks of the boys if the class average is
42 marks?

50 BT $T T e 7 22 JTsfhar § Siegier ader & 3iad 35 3is 31feid 63| afe wetm 31 31 ad 42 31 § Y a1 & 3)9d 376 fhda §2



Options:

1) 50

2) 52.5

3)47.5

4) 55

Correct Answer: 47.5
Candidate Answer: 47.5

QID : 83 - The average of 41 consecutive odd numbers is 49. What is the largest number.

41 AT fave TEaT3tt 1 3rad 49 §1 T T3 TEAT 7T §2
Options:

1) 89

2)91

3)93

4) 95

Correct Answer: 89

Candidate Answer: 89

QID : 84 - A batsman scores 87 runs in the 215t match of his career. His average runs per match increases by 2. What was his average before the 215t match.

TR ToolaTel o 379 HRIT & 21 § # F 87 I Fa¥ | 30 ufa #7 & 71 30T 2 & 9¢ 137 | 21 § F & Ygo 30 3iad a1 A1?
Options:

1) 45

2) 46

3)44

4) 43

Correct Answer: 45

Candidate Answer: 45

QID : 85 - Oil equal to 20% of the weight of ground nut is extracted in a mill. The matter left after extraction is sold as cattle feed at the rate of Rs 12.5/kg. The
groundnuts are bought at Rs 20/kg. The processing cost is Rs 5/kg. At what price (Rs per kg) should the oil be sold to earn 20% profit on total costs (Total cost =
Cost of groundnuts and Processing costs)?

TorelY frer 31 FIThell & a9 & 20% & SRR ol ferell ST § | fswyor & weard St 9erd Jodr § 386 ARt & #iieet & faw 12.5 % wfay frdien & oo & s=r
ST B 1 HIohelr 20 &/ fheltanmer & feare & wey a2t | SAfHer i e 5 3/freliard &1 Ao 1 6 Ho (¥ / fhellans) o3 9= ST Jifé Fof HrAd o 20% e & |
(el HIHAT = FITHA T e 3T AT BT FrAe)

Options:

1) 250

2) 150

3) 200

4) 100

Correct Answer: 100

Candidate Answer: 100

QID : 86 - If a vendor sells a coconut at Rs 14.4 he makes 10% loss. If he wants to make 25% profit, then at what price (in Rs) should he sell?

I E fAHT 14.4 ® 3 ART I § A 37 10% FHAT Qe §1 ARG T§ 25% < FHTAT A6 § A 3§ Fhe FroAd &R (3 ) AR 73y ghar?
Options:

1) 18

2)20

3) 16

4) 22

Correct Answer: 20

Candidate Answer: 20

QID : 87 - At a village trade fair a man buys a horse and a camel together for Rs 51,250. He sold the horse at a profit of 25 % and the camel at a loss of 20 %. If
he sold both the animals at the same price, then the cost price of the cheaper animal was Rs

T & AT H Tk FfFd 7 T 'e7 31N T Fe gt e 51,250 & & @S| 39 813 Tl 25% o1 W 3R 3¢ FT 20% gifa ) 9T o] afe 38 At Seta’y &
FHI Hed G 947 Al HES STl 6 o o __ % Al

Options:

1) 6600

2) 7500

3) 25000

4) 20000

Correct Answer: 20000
Candidate Answer: 20000



QID : 88 - On a certain item profit is 150%. If the cost price increases by 25% what will be the new profit margin (in %)?

Ty QI &) o) oITeT 150% &1 I ATy 25% g ST & Y 7T o8 AlforeT (% &) T g1am?
Options:

1) 25

2)50

3) 100

4) 75

Correct Answer: 100

Candidate Answer: 50

QID : 89 - 40% are the passing marks. A student gets 250 marks yet fails by 38 marks. What is the maximum marks?

3ol gt 8 3MTaedeh 3k 40% &1 el 7 @1 250 3k fer § oo T off a8 38 3ot & Jrefcciol &) Sirelm §1 Jrfishats 37 1 82

Options:
1) 720
2) 750
3) 800
4) 840

Correct Answer: 720
Candidate Answer: 720

QID : 90 - Ravi is 12 years younger than Surya. Ravi's age is 40% of the sum of his and Surya's age. What will be Surya's age 9 years hence?

fa, T & 12 AT o ¢ I AT I 3HhT 3R AT AT I F T A 40% B ST § 9 AT G FAT T 3T FAT FIIN?
Options:

1) 36

2) 24

3)33

4) 45

Correct Answer: 45

Candidate Answer: 45

QID : 91 - 5% of a = b, then b% of 20 is the same as

a®M 5% =bar20H b% ____ & &< gHamm|
Options:

1) 20% of a/2

a/2 &1 20%

2) 50% of a/20

a/20 &1 50%

3) 50% of a/2

a/2 T 50%

4) 20% of a/20

a/20 &1 20%

Correct Answer: 20% of a/20
a/20 &1 20%

Candidate Answer: 20% of a/20
a/20 &1 20%

QID : 92 - A man's annual income has increased by Rs 5 lakhs but the tax on income that he has to pay has reduced from 12% to 10%. He now pays Rs 10,000
more income tax. What is his increased income (in Rs lakhs)?

Teh i T d1MNeh 37 5 o & §¢ STl § We] 3 o9TeT alell IR 12% & 10% &Y STl §1 376 38 10,000 & 31Tk TR Sl ISl 81 mﬁa@rgém(ws
#) frae &7

Options:

1) 20

2) 25

3)15

4)10

Correct Answer: 25

Candidate Answer: 20

QID : 93 - A racing car going at an average speed of 108 km/hr takes 15 minutes to complete a lap on a racing track. By how much should it increase its speed (in
km/hr) to complete the lap in 12 minutes?

T YHT FR I ¢ W 108 .38, /eier 7 3 a1 § v g 0 a4 & fow 15 A ol §| U aaa &1 12 fAeie & qu &eet & fore saehr arfey (.. /eien)
ToRcielT a1 aTfeu?



Options:

1) 24

2)21

3) 27

4) 30

Correct Answer: 27
Candidate Answer: 27

QID : 94 - Train A takes 45 minutes more than train B to travel a distance of 450 km. Due to engine trouble speed of train B falls by a quarter, so it takes 30
minutes more than Train A to complete the same journey. What is the speed of Train A (in km/hr)?

el o TorT T A 1 JoraTT 3 30 Tefe 31fereh T ofcht §1 ¢of A a1 arfer (Toh. . /eie) aram &2
Options:

1)90

2) 120

3) 100

4) 110

Correct Answer: 100

Candidate Answer: 100

450 for.#l. BT gl T e & TIT &oT A, o1 B Y Joretr 45 fAeTe 310k G Al 1 $eT Y T@re & &RoT ¢t B Y a1fcy Ueps =g oo gY STl § 37T 3¢ amm &y o

QID : 95 - Two cars A and B travel from one city to another, at speeds of 72 km/hr and 90 km/hr respectively. If car B takes 1 hour lesser than car A for the
journey, then what is the distance (in km) between the two cities?

ar I A AT B Teh 26T U GEY AT T 30 shaAer: 72 fop.#/eier 30 90 Toh.#ll./aier &1 91Ty & wefalr TeT il §1 IS &R B 1 &R A 1 Jofell & 1 Hel i HHYG ofaral
ot ax et o v i gt (.. #F) frast &2

Options:

1) 270

2) 360

3) 240

4) 400

Correct Answer: 360
Candidate Answer: 360

QID : 96 - B starts 4 minutes after A from the same point, for a place at a distance of 7 miles from the starting point. A on reaching the destination turns back and
walks a mile where he meets B. If A's speed is a mile in 8 minutes then B's speed is a mile in minutes.

TR fig & 7 #rer 1 gl ) Feyd el Tt & U B, A & wolel & 4 TeTe ae; 34T fdig & Tefar TRt el 81 WWQ@?QEWA%W%WWW
TaT F I B BT A 8 AT H s AT Taarg AIBHrafa _ Beie & v et gl

Options:

1)9

2) 12

3) 10

4)8

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 97 - If the amount on a certain principal in 3 years at 12% rate of interest compounded annually is Rs 12,000, what will be the amount (in Rs) after the 4th
year?

T et Fererst WX 3 af & fAw 12% &7 &% F a1 Tegfg saret 12,000 & § aF 9 a9 & a1g iy (3 #) F2r gefre

Options:
1) 14330
2) 15440
3) 13440
4) 14550
Correct Answer: 13440

Candidate Answer: 13440

QID : 98 - The amount (in Rs) received at 10% per annum compound interest after 3 yrs is Rs 1,19,790. What was the principal?

10% Yicay saTeT 1 &T & 3 @t & g ifoid Tshdfe sareT 1,19,790 & &1 Helue (T ) Far ur?
Options:

1) 90000

2) 1,00,000

3) 80000

4) 75000

Correct Answer: 90000

Candidate Answer: 90000



QID : 99 - In how many months will Rs 8,000 yield Rs 2,648 as compound interest at 20% per annum compounded semi-annually?

forcer FEIAT ¥ 8000 % TR AT 20% HT & A 2,648 & TETaT Tohgfe saTel & & o HeN?

Options:

1) 18

2) 24

3)12

4) 30

Correct Answer: 18

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - What is the rate of interest (in %) if simple interest earned on a certain sum for the 3rd year is Rs 2,000 and compound interest earned in 2 years is Rs
4,160?

ST T T (% F) F greft afe el W fea TRy oX e |rer # 2,000 & WIUROT s@re 31K 2 avt 916 Tghe sareT 4,160 & e 82
Options:

1)8

2) 10

3)12

4)6

Correct Answer: 8

Candidate Answer: 8



